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1. This is an INDIVIDUAL graded homework set.
2. Submit all supporting calculations and analysis. You will not receive credit for work that is not supported!  When technology is used, include a printout or appropriate description of your procedure.  Ensure all supporting work is logical, neat, organized and legible.

3. This problem set is due on 10 Oct 2007, at the beginning of class.

4. This is a graded homework assignment worth 40 points.  Include a cover sheet and document any assistance you receive in accordance with Documentation of Written Work, August 2005.
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1.  (5 pts)  Find the function of the form
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whose graph is given.  The curve goes through the point (9, 2).
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Since (9,2) is on the graph,
We have 
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So 
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Then the function is 
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2.  (5 pts)  Graph 
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 in Mathematica.  Explain in words how g was obtained from f using the transformations of Section 2.5.  Then state the domain, range, and asymptote of g.
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g(x) is obtained by flipping (reflecting) f(x) about the x-axis and moving it up 6 units.
Domain 
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Asymptote is  y = 6.
3.  Radioactive iodine is used by doctors as a tracer in diagnosing certain thyroid gland disorders.  This type of iodine decays in such a way that the mass remaining after t days is given by the function  
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, where m(t) is measured in grams.
a. (5pts)  How much of the mass remains after 20 days?
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Approximately 1 gram of radioactive iodine remains after 20 days.
b. (5 pts)  After how many days is there only 2 grams of mass remaining?
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So after approximately 12 days 2 grams remain.
4.  Complete the following exercises:
a. (5 pts)  Use the definition of the logarithmic function to find x.
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Definition:    
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b. (5 pts)  Use the Laws of Logarithms to rewrite the expression in a form with no logarithm of a product, quotient, root, or power.
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5.  (10 pts)  A certain strain of bacteria divides every three hours.  If a colony is started with 50 bacteria, then the time t (in hours) required for the colony to grow to N bacteria is given by t=3
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.  Find the time required for the colony to grow to a million bacteria.

N = 1,000,000
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The colony should contain a million bacteria after

 approximately 42.86 hours.
� EMBED Equation.3  ���
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